€

Y-IE2/IE3-160~355

GREY CAST IRON

400 / 690V 50HZ

FROM 11KW TO 315KW

INSULATION CLASS F

TEMPERATURE RISE 80K

PROTECTION DEGREE IP55

AMBIENT TEMPERATURE -20~+40°C
ELEVATION SITE LESS THAN 1000 M

TOTAL ENCLOSED FAN COOLED IC411
PTC150°C THERMISTORS CONTINUOUS S1
IE2 / IE3 HIGH EFFICIENCY ELECTRIC MOTOR
EQUIVALENT STANDARD IEC / DIN EN 60034 60072




ABBREVIATIONS

IE

IE1
IE2
IE3
IE4
IEC
NEMA

International Efficiency
Standard Efficiency
High Efficiency
Premium Efficiency
Super Premium Efficiency
International Electrotechnical Commission
National Electrical Manufacturers Association

EFFICIENCY CLASSIFICATION

4
Super Premium

|
Efficiency ‘
E3 NEMA Premium \

Premium EPAct (IE3)
Efficiency From 12/2010 |
IE2 NEMA High Efficiency| |

G, High EPAct (IE2)
Efficiency To 12/2010 |
£l |

@ Standard

Efficiency ‘
IEC motors NEMA motors |

EFFICIENCY VALUE
IE1T EFFICIENCY VALUE | IE2 EFFICIENCY VALUE | [E3 EFFICIENCY VALUE
kW 2 Poles|4 Poles|6 Poles|2 Poles|4 Poles|6 Poles|2 Poles|4 Poles|6 Poles
0.75 | 72 72, 70.0 774 | 79.6 759 80.7 82.5 78.9
110 | 75.0 75.0 72.9 79.6 81.4 781 82.7 841 81.0
150 | 772 77.2 75.2 81.3 82.8 79.8 84.2 85.3 82.5
2.20 | 797 79.7 77.7 83.2 84.3 81.8 85.9 86.7 84.3
3.00 | 815 81.5 79.7 84.6 85.5 83.3 87.1 87.7 85.6
4.00 | 831 83.1 81.4 85.8 86.6 84.6 88.1 88.6 86.8
B0 | 847 84.7 83.1 87.0 87.7 86.0 89.2 89.6 88.0
750 | 86.0 86.0 84.7 88.1 88.7 87.2 90.1 90.4 | 891
1.0 ] 876 87.6 86.4 | 89.4 | 89.8 88.7 91.2 91.4 90.3
15.0 | 88.7 88.7 87.7 90.3 90.6 89.7 91.9 92.]1 91.2
185 | 89.3 89.3 88.6 90.9 91.2 904 | 924 | 926 91.7
22.0 | 89.9 89.9 89.2 91.3 91.6 90.9 92.7 93.0 92.2
30.0 | 90.7 90.7 90.2 92.0 92.3 91.7 93.3 93.6 929
37.0 | 91.2 91.2 90.8 92.5 92.7 92.2 93.7 93.9 93.3
450 | 91.7 91.7 91.4 92.9 93.1 92.7 94.0 94.2 93.7
55.0 | 921 92.1 91.9 93.2 93.5 93.]1 94.3 94.6 94,1
750 | 92.7 92.7 92.6 93.8 94.0 93.7 94.7 95.0 94.6
90.0 | 93.0 93.0 92.9 941 94.2 94.0 95.0 95.2 949
110.0 | 93.3 93.3 93.3 94.3 94.5 94.3 95.2 95.4 | 951
132.0 | 93.5 93.5 93.5 94.6 94.7 94.6 954 | 95.6 95.4
160.0 | 93.8 93.8 93.8 94.8 94.9 94.8 95.6 95.8 95.6
200... | 94.0 94.0 94.0 95.0 95.1 95.0 95.8 96.0 95.8
L3751 94.0 94.0 94.0 95.0 95.1 95.0 95.8 96.0 95.8




BEARING REGREASING REFERENCE

RECREASING REFERENCE DRIVING END NON-DRIVING END
CREASE BRAND REGREASING | REGREASING | REGREASING | REGREASING
ESSO UNIREX N2 TIME AMOUNT TIME AMOUNT
Series | Frame | Poles (hours) (grams) (hours) (grams)
2 /7000 20 7000 20
Y-IE2 160 4 10000 20 10000 20
Y-IES 6 15000 20 13000 20
8 18000 20 18000 20
? 4300 25 4300 25
Y-1E2 180 4 9500 25 9500 25
Y-1ES b 12700 25 12700 25
B 15300 25 15300 25
2 3800 25 3800 29
Y-1E2 200 4 9300 25 9300 25
Y-1ES 6 12400 25 12400 25
8 15200 25 15200 29
2 2100 25 3800 25
Y-1E2 9795 4 5100 30 9300 29
Y-IES 6 6000 30 12400 29
8 /7000 30 15200 25
2 2900 30 3100 30
Y-1E2 950 4 3000 35 3300 35
Y-IES ) 4000 395 4300 39
8 5000 35 5200 35
2 3000 30 4000 30
Y-1E2 280 4 2600 40 4100 30
Y-1ES3 6 4300 40 5900 30
8 5300 40 6900 30
2 800 40 800 40
Y-1E2 315 4 2500 50 3700 50
Y-1E3 6 4100 50 5400 50
§ 9100 90 6500 30
2 500 50 500 50
Y-1E2 155 4 1900 70 3100 70
Y-1E3 6 3900 70 5000 70
8 4800 70 6100 70

PAINTING SPECIFICATIONS

THERMAL CLASS F
RAL7031 PAINTING
SPECIFICATION

SERIES H-IE1/1E2/IE3
63~160
ALUMINIUM HOUSING
MOTOR

SERIES Y-IE2/IE3
160~355

CAST IRON
MOTOR

or epoxy paint

Primer (Anticorrosive, or alkyd,

Thickness = 20~30 pm

Thickness = 30~40 pm

Intermediate paint
(RAL7031 blue grey)

Thickness = 30~40 pm

Thickness = 40~50 pm

Coating paint
(RAL7031 blue grey)

Thickness = 20~30 pm

Thickness = 30~40 pm

Total thickness
(approximate)

Thickness = 70~100 pm

Thickness =100~150 pm




€0-22€9 | €0-zzenN | og6lL | S6 ze L'z 69 6102 06'0 z'€6 ¥'56 156 88/L 1€ 8.¢ 0671 80€ L€ ¥26 oey | S€ $155€-231FA
€0-22€9 | €0-zzenN | o008l | S6 ze L'z 69 2091 06'0 z'€6 ¥'56 156 88/L 244 00€ 0671 e (444 €€L ove | 0sz YINSSE-ZAIFA
€0-61€9 | €0-6LENN | 0SZL | +6 ze L'z 69 98zl 68°0 z'€6 ¥'56 156 z8LL 843 ore S8yl 861 843 €65 0z | 00z | vaIsLE-ZAFA
€0-61€9 | €0-6LENN | 08LL | +6 ze L'z 69 6201 68°0 0'€6 z's6 616 z8LL €2 261 S8yl 651 €2 (VA4 00z | 09 | pVISLE-ZAIA
€0-61€9 | €0-6LENN | O¥OL | +6 ze L'z 69 6878 880 8'26 056 L'v6 z8LL 622 851 S8yl €el 622 86€ o8l | zgb YINGLE-ZAIFA
€0-61€9 | €0-6LENN | 0.6 6 ze L'z 69 ¥'20L 880 926 86 S'v6 z8LL 161 zel S8yl L 161 zee oSl | oL ySSLE-ZaAA
€0-21€9 €0-/1€9 049 88 €T e 19 1085 180 €26 56 16 9LLL 651 801 o8yl 616 651 9z gzl | 06 yIN08Z-ZaIFA
€0-/1€9 €0-/1€9 085 88 €T e vL 0'v8% 180 126 €6 0'v6 9L/L zel 006 o8yl 192 zel 0€2 0oL | sz ¥S08Z-23I-A
€0-71€9 €0-71€9 0S¥ g8 €T e ¥L 65 180 916 8'€6 G'e6 9L/L 9.6 099 08yl 995 9.6 0L GL | ss ¥IN0SZ-ZaIFA
€0-€1€9 €0-€1€9 ove 8 €T e €L ¥'06¢C 180 L6 ¥'€6 1'€6 9L/L 208 0'%S o8yl gy 208 6el 09 | s¥ yINGZZ-2aIFA
€0-€1€9 €0-€1€9 oLe 8 €T e zL 8'8€¢ 180 806 0'€6 126 9L/L 299 (444 o8yl '8¢ 299 SLL 0s | L¢ ¥Ssez-zalrA
€0-21€9 €0-21€9 0.2 €8 €T e 8L 6161 98'0 506 926 €26 y9/L 9vS 09¢ oLyl 9le 95 616 o | og #1002-231FA
€0-11€9 €0-11€9 oLz 08 €T e LL 62yl 98'0 8'68 616 916 y9/L €0y v'92 oLyl v'ee (114 1'0L oe | 2z ¥108L-231FA
€0-11€9 €0-11€9 061 08 €T e SL zozlL 98'0 7'68 ] L6 y9LL 0've zee oLyl L6l 0've z6S Gz | S8l | PWO8L-ZAFA
£€0-60€9 €0-60€9 [ol<] 1L €T e SL 2186 §8'0 8'88 606 906 TSLL 182 08l 09vL €9l 14 68y 0z | S $1091-231FA
£€0-60€9 €0-60€9 gel 1L €T e ¥L G6'LL ¥8'0 088 106 8'68 TSLL 0z zel 09vL fa4" 0'le 9'9¢ Sl L YINO9L-ZAIFA
s310d v

€0-61€9 €0-6L€9 | 0oLz | ooL A 0C [ G600} 260 1'€6 ¥'G6 066 9.6¢ 0zs 8.¢ 0862 20¢ 0zs 506 ogy | S 2185€-2arA
€0-61€9 €06L€9 | 0g6L | 001 FAra 0C [ z'108 260 1'€6 ¥'G6 066 9.G¢ 54 00€ 0862 6€2 354 8LL ove | 0sz ZINSSE-ZAIFA
€0-/1€9 €0-/1€9 | ovelL | 86 A 0C [ 02v9 260 166 ¥'G6 066 0.5¢ 0ge ore 5162 161 0ge v.S 0z | 00z | zaisie-zalrA
€0-/1€9 €0-/1€9 | OLLL | 86 x4 0C [ 9€Ls 260 626 A 816 0.5¢ S92 z61 5162 ¥GL S92 Lot 00z | 09 | 2viSLE-ZAIA
€0-/1€9 €0-/1€9 | oL0L | 86 A4 0C [ L'€Y 16°0 126 066 9'v6 0.5¢ (k44 861 5162 8zl (k44 G8¢e o8l | zgb ZINGLE-ZAIFA
€0-/1€9 €0-/1€9 0v6 86 A4 0C [ 1°€5€ 16°0 ¥'26 L6 €16 0.5¢ S8l z€el G162 201 g8l 443 osL | oL ZSS1E-zarA
€0-71€9 €0-v1€9 085 6 o4 0C 0L ¥'68¢C 16°0 226 56 L6 ¥95€ s 801 0262 628 z51 ¥92 gzl | 06 ZIN08Z-ZAIFA
€0-71€9 €0-1€9 GeS 6 [5x4 0C 69 e 06'0 616 ¥6 8'¢6 ¥95€ 8zl 006 0262 €y 8zl {44 ool | sz 2508Z-23IFA
€0-71€9 €0-v1€9 [oloj4 26 o4 44 9L TLLL 06'0 €16 9'€6 z'€6 8GG€ 9'v6 099 5962 645 9'v6 [ete] 6L | ss Z-IN0SZ-Z3IFA
€0-€1€9 €0-€1€9 Sbe 26 o4 44 9L A1} 68°0 016 £€6 626 255¢ 9'8L 0'vS 0962 g’y 9'8L 161 09 | s¥ Z-INSZT-Z3IFA
€0-21€9 €0-21€9 092 06 o4 44 SL 8'6LL 68°0 106 626 G526 ovse 69 (444 0562 9'.€ 619 €Ll 05 | L& | z=100z-z23rA
£€0-21€9 €0-21€9 ore 06 o4 44 SL [V 880 206 ¥'26 026 ovse G'es 09¢ 0562 0'l€ G'es 0'€6 ov | 0¢ | 2Zv100Z-Z3rA
€0-11€9 €0-11€9 g8l 88 o4 44 z'8 9r'LL 880 5’68 16 €16 825¢ G'6€ 792 ov6z 62 G'6€ 189 oe | 2z ZINO8L-ZAIFA
£0-60€9 £€0-60€9 [X<]% 18 o4 44 1’8 0209 68°0 168 €16 606 zese 0°€e zee SE62 1’6l 0°€e v'LS Gz | S8l 21091-23rA
£0-60€9 £0-60€9 gel 18 o4 44 08 688 68°0 G'88 106 €06 9lG¢e 692 08l 0€62 9'Gl 692 697 0z | Sb | zawo9L-zara
£€0-60€9 £€0-60€9 44" 18 o4 44 6L G8'ge 68°0 9.8 868 7'68 9lG¢e 002 el 0€62 9Ll 002 L've Gl LL | 2VINO9L-ZAIFA
3aN Buueag| 3q butesg | Oy | (v)GP |NL/XewL| NL/ISL | N/3SI weN  [(%001) 6500 | (%08) #3 | (%S2) #3 |(%00L) #3 |(ZHO9/A08Y) wdi| (ZHOY/AO8Y) NI | (ZHOY/AO8Y) MY | ulw/a  |(ZHOS/A0B9) NI [(ZHOS/AOOY) M|(ZHOS/AOEZ) M| dH | MY 3dAL
s370d ¢

V1va TvIINHO3L JO.LON JI413373 NOYI LSVD ISVHd 334HL ONIMVIE N8I LS LYl 0431 SSdI 4 TO'SNI ADN3ID1443 HOIH 231 ZH0S A00¥ SSE~091-23I-A




€0-22€9 | €0-zzenN | 090z | 26 0z 8l 99 185¢ €80 6€6 9'56 166 888 €9¢ ore ovL Lz €9¢ z€9 0/z | 00z 8165€-23rA
€0-22€9 | €0-zzenN | 088l | z6 0z 8l 99 5902 280 6€6 9'56 166 888 62 z61 ovL LLL 62 4%} 0zz | 091 | 8ANSSE-ZAIFA
€0-22€9 | €0-zzenN | ossL | 26 0z 8l 99 y0LL 280 1'€6 €66 ¥'56 888 la4 85l ov.L Ll e vy 08l | Z€L | 8VINSSE-ZAIFA
€0-61€9 | €0-6LENN | o0zl | 88 0z 8l 99 ozyl 280 ¥'€6 256 1'66 888 y0Z zeL ovL 8Ll y0Z ySe 0SL | ovL | s&ISLE-ZAIrA
€0-61€9 | €0-6LENN | OOLL | 88 0z 8l 89 L9LL 280 626 S'v6 L6 888 191 801 ov. 16 191 162 Gzl | 06 | 8viSLE-ZAIrA
€0-61€9 | €0-6LENN | GzoL | 88 0e 8l 89 6,96 18°0 826 €16 ¥'v6 888 [a 4" 06 ovL 128 [a4"” vz 00L | SL 8INGLE-ZAIFA
€0-6L€9 | €0-6LENN | G86 88 0z 8l 89 8'60L 18°0 816 9'€6 1'€6 888 S0l 099 ovL 909 S0l z8l 6. | ss 8SS1E-ZAA
€0-21€9 €0-/1€9 §29 z8 0z 6l 89 1'885 6.0 ¥'1L6 z'€6 z'e6 9/8 z'88 0t 0€L L'LS 2’88 €51 09 | st 8IN08Z-Z3I-A
€0-21€9 €0-/1€9 0SS z8 0z 6l 89 0'v8¥ 6.0 1’16 526 126 9/8 6L (447 0€L ey 6L Y4’ 0s | L¢ 8S08Z-Z31-A
€0-71€9 €0-71€9 ozy 08 0z 6l 89 G'z6e 60 €06 226 126 9/8 §'65 09¢ 0€L Sve §'65 yol oy | oe 8IN0SZ-ZaIFA
€0-€1€9 €0-€1€9 oLe 6. 0z 61 89 8182 8.0 568 116 16 9/8 [*R47 ¥'92 0€L 652 9ty 9LL oe | 2z 8INSZZ-ZaIFA
€0-€1€9 €0-€1€9 282 6. 0z 61 89 o'z 9.0 1'68 706 106 9/8 18 zee 0€L §ze 18 ¥'.L9 Gz | §8L 8S52Z-Z3IFA
€0-21€9 €0-21€9 vez 6. 0z 0z 89 2961 9.0 1'88 206 006 9/8 LLe 08l 0€L ¥'8l LLe 1'6S 0z | S 81002-23IFA
€0-11€9 €0-11€9 g8l 9. 0z 0z 89 6erl 9.0 128 188 888 9/8 g€ zel 0€L g€l g€z 607 Sl 1 81081L-23IFA
€0-60€9 €0-60€9 24 [ 0z 0z 69 566 SL0 €68 z.8 z.8 798 99l 06 0zL 96 99l 8'8C oL | s2 81091-23rA
€0-60€9 €0-60€9 8zl [ 0z 0z 69 €L v.°0 08 658 8'G8 798 €L L 0z L €l 44 G, | §°6 | 8aWO09L-ZaAIrA
£€0-60€9 €0-60€9 GLL [ 0z 61 69 90°€S €L0 5z8 18 T¥8 798 ¥'6 8y 0zL ¥'S ¥'6 €9l g's ¥ | 8VINO9L-Z3IFA
S370d 8

€0-22€9 | €0-zzenN | 00z | 6 0z 0z L9 14544 880 1'€6 256 056 88LL 434 00€ 066 0sz 454 (X7 ove | osz 9155€-23IA
€0-22€9 | €0-zzenN | S¥6L | v6 0z 0z L9 6261 880 1'€6 €66 056 88LL Sve ore 066 00z Sve 109 0/Z | 00Z | 9GNSSE-ZIIFA
€0-22€9 | €0-zzenN | ovLL | v6 0z 0z L9 £vSL 880 626 156 86 88LL 112 z61 066 091 112 [X:14 00Z | 09} | 9VINSSE-ZAIFA
€0-61€9 | €0-6LENN | 00EL | 68 0z 0z L9 08zl 180 126 616 96 z8hL zee 851 686 veL z€e €0v 08l | 2zeb | 9gISLE-ZAIFA
€0-61€9 | €0-6LENN | O¥ZL | 68 0z 0z L9 9901 98'0 526 96 €16 z8hL 961 zeL 686 €Ll 961 ove 0SL | OLL | 9VISLE-ZAIrA
€0-61€9 | €0-6LENN | 08LL | 68 0z 0z L9 9'z.8 98'0 126 €16 06 z8hL 191 801 686 z'e6 191 6.2 geL | 06 9NSLE-ZAIA
€0-61€9 | €0-6LENN | 0.6 68 0z 0z L9 zleL 98'0 816 0'v6 1'€6 z8LL vel 006 686 6L, veL vez 00L | SL 9SS1E-ZaA
€0-21€9 €0-/1€9 069 g8 0z (4 [ 0'9¢S 98'0 z'16 7'€6 1'€6 9Ll 2’66 099 086 e} 2’66 [21" 6. | ss 9N08Z-ZaIFA
€0-21€9 €0-/1€9 €09 g8 0z (4 [ §'8ey 98'0 806 0'€6 126 9Ll g8 0t 086 Ly g8 [a4" 09 | st 95082Z-Z31-A
€0-71€9 €0-71€9 9Ly 28 (4 (4 1L 9°09¢ 98'0 706 526 z'T6 9Ll ¥'L9 1447 086 0'6€ ¥'29 Ll 0s | L& 9N0SZ-ZaIFA
€0-€1€9 €0-€1€9 sle 08 (4 0z [ €262 780 668 126 L6 9Ll z'95 09¢ 086 9ze 295 8.6 oy | og 9INSZZ-Z3IrA
€0-21€9 €0-21€9 95z 08 (4 (4 €L ryie €80 1'68 L6 606 9Ll Ley ¥'92 086 e Ley zeL 0¢ | 2z | 99100Z-Z3I-A
€0-21€9 €0-21€9 vz 08 (4 (4 [ €08l 18°0 9'88 106 706 9Ll §9e zee 086 (¥4 §9¢e ¥'€9 Gz | §'8L | 9v100Z-Z3I-A
€0-11€9 €0-11€9 00z 1L (4 0C [ 697l 18°0 6.8 006 168 0LLL 8'6C 08l 6.6 €Ll 8'6C 8'LS 0z | S 97081-23rFA
£€0-60€9 €0-60€9 291 €L (4 (4 69 €801 8.0 698 068 188 ¥9LL 62 zel 0.6 €€l 62 6'6€ Sl 1 97091-23rA
£0-60€9 €0-60€9 orl €L (4 (4 L9 y8'€L 8.0 §'G8 G'/8 z.8 L1 6'Gl 06 0.6 6 6'Gl Lz oL | s2 9N09L-ZaIFA
3aN Buuesg | 3q Buleeg | Oy | (v)gp |NL/XewL | NL/ISL | NI/3¥sI WweN  [(%001) #s0D | (%08) #3 | (%S2) #3 |(%001) #3|(ZHO9/A08Y) wdi| (ZHOY/A08Y) M |(ZHOY/A08Y) M| Uiy (ZHOSG/A069) M|(ZHOS/A00Y) NI[(ZHOS/AOEZ) M| dH | A AdAL
S370d 9

V1vdad TvOINHO3L ¥OLON J1¥.13373 NOUI LSVO ISVHd I3HHL ONIMVIE N8I LS LIl 3431 SSdI 4 TO'SNI ADN3ID1443 HOIH 231 ZH0S A00¥ SSE~091-23I1-A




€0-22€9 | €0-zZenN | zvel | S6 0C ¥l vL 6102 880 06 096 096 88/1 8€S 0'8.€ 0671 zLe 8€5 9e6 ogy | S y1s5€-€3rA
€0-22€9 | €0-zZenN | vi8L | S6 L'z ¥l [ 2091 880 06 196 096 88/1 Vkd4 0°00€ 06YL (374 ka4 (373 ove | 0sez PINSSE-€IFA
€061€9 | €0-6LENN | €921 | ¥6 L'z 9l [ z82L 880 06 096 096 88/1 zve 0°0ve 06vL 861 Tve 65 0/z | 002 | vaISLE-E€IIFA
€061€9 | €0-6LENN | G6LL | ¥6 0C gl 89 9201 880 8'€6 8'G6 8'G6 88/1 vie 0261 06vL 651 v.2 9Ly 00z | 09L | ¥VISLE-E€IIA
€0-61€9 | €0-6LENN | SS0L | ¥6 0C gl [ 9v8 880 9'€6 166 966 88/1 9ze 7’851 06vL el 9ze v6€ oslL | zg1L PINGLE-ETIFA
€06L€9 | €0-6LENN | 886 6 L'z 9l [ S0L 880 7'€6 §'G6 ¥'G6 88/1 681 0'zeL 06vL oLl 681 62¢ 0sL | oKL ¥SSLE-€AIA
€0-/1€9 €0-/1€9 8.9 88 L'z 9l [ 6.5 180 z'e6 7'56 56 z8LL /51 0'80L S8yl 606 161 €Lz gzl | 06 ¥IN0SZ-€3IFA
€0-/1€9 €0-/1€9 885 88 44 8l 69 [4:14 180 0€6 166 066 z8LL el 006 S8yl 6'GL el (44 0oL | sz #S082-€3I-A
€0-71€9 €0-71€9 Loy g8 vz 8l 0L y5€ 180 926 616 916 z8LL 596 099 S8yl 665 596 891 6L | ss ¥INOSZ-€3IFA
€0-€1€9 £€0-€1€9 Sbe 8 vz 8l 1L 682 180 2’26 v'v6 v6 z8LL €6 0¥ S8yl 66y €6L 8gl 09 | st YINSZZ-€3IFA
€0-€1€9 £€0-€1€9 sle 8 €T Ll 1L fslord 98'0 616 0'v6 6€6 z8LL 199 (447 S8yl €8¢ 1'99 GLL 0s | L¢ ¥SSzZ-€aIFA
€0-21€9 €0-21€9 sz €8 €T 8l 89 v6l 98'0 916 8'¢6 9'€6 0LLL 8¢S 09¢ Syl e 8'€S 9'€6 oy | oe #1002-€31FA
€0-11€9 €0-11€9 0ze 08 gz 8l 0L epl G680 016 0'€6 0€6 9.1 oy 92 oLyl €€ oy 6'69 oe | 2z ¥1081L-€3IFA
€0-11€9 €0-11€9 861 08 gz 8l 69 ozl 780 906 126 926 9.1 £ve zee oLyl 66l £ve 165 Gz | 8L | ¥INO8L-€3IrA
£0-60€9 £0-60€9 €61 1L vz 8l 89 8.6 280 106 €26 126 8G/1L 182 08l SovlL 991 182 667 0z | S $1091L-€31FA
€0-60€9 £0-60€9 Lyl 1L €T 6l 89 yNY) 280 768 g'16 716 8G/1L e zel SovlL [5xA e 8'9¢ Gl 1 YINO9L-€TIFA
S310d v

€0-61€9 £€0-61€9 Lz | ool 0C [ 6L 6001 260 8'€6 8'G6 8'G6 9/G¢ 9lg 0'8.€ 0862 662 9lg 168 ogy | S 21s5€-€3arA
€0-61€9 €0-61€9 8961 | 00l 0z [ 6L 108 260 8'€6 6'G6 8'G6 9/G¢ 601 0°00€ 0862 1£2 60% 4%} ove | 0sz ZINSSE-€TIA
€0-/1€9 €0-/1€9 oszl | 86 0z [ 8L 19 160 8'€6 8'G6 8'G6 9/G¢ Lee 0°ove 0862 z6l Lee 9.5 0/z | 00z | zalskE-€3FA
€0-/1€9 €0-/1€9 | 6LLL | 86 0z Tl 89 €15 060 9'€6 9'66 966 9/G¢ 892 0261 0862 951 892 19v 00z | 09L | 2ZVISLE-€IIFA
€0-/1€9 €0-/1€9 9z0L | 86 L'z €l [ vey 060 7'€6 §'G6 ¥'G6 0/5¢ zee 7’851 G162 62l [444 98¢ oslL | zglL ZINSLE-€TIFA
€0-/1€9 €0-/1€9 956 86 0z Tl [ £5¢ 060 z'e6 256 56 0/5¢ g8l 0'zeL G162 101 g8l zze 0sL | oL ZSSLE-€AA
€0-71€9 €0-71€9 965 6 0C Tl vL 682 680 0€6 166 066 045¢ yS1 0'80L G162 1'68 ¥Gl 192 gzl | 06 ZINO8Z-€3IFA
€0-71€9 €0-71€9 8%S 6 0C Tl [ 1 060 126 8'v6 L6 045¢ 4} 006 G162 9€L yra? 1z 0oL | sz 2S08Z-€3I-A
€0-71€9 €0-71€9 80¥ 26 9C 9l [ LL) 680 €26 €16 €6 ¥95¢ 96 099 0262 8'YS 9'v6 g9l 6L | ss Z-IN0SZ-€3I-A
€0-€1€9 €0-€1€9 £5¢ 26 gz 9l 89 Ghl 880 026 16 06 85G¢ X7 0'vS 5962 S G'8L L€1 09 | st TINGZZ-€3I-A
€0-21€9 €0-21€9 192 06 gz gl [ 6LL 160 L6 8'¢6 1°€6 255¢ 929 1447 0962 £9¢ 929 601 0S | L& | z=100z-€3rA
€0-21€9 €0-21€9 9 06 4 gl 0L 8'96 680 €16 7'€6 £€6 255¢ 12 09¢ 0962 z0e 128 106 oF | 0¢ | Zv100Z-€3rA
€0-11€9 €0-11€9 z6l 88 o4 9l 0L 1L 060 106 126 126 9bge 1'8€ 92 5662 (44 18 299 oe | 2z ZINO8L-€3IFA
£0-60€9 £€0-60€9 GGl 18 4 9l 0L 109 680 706 G526 ¥'26 82g¢ 5ze e ov6e 88l g'ze 595 gz | g8l 21091L-€3IFA
£0-60€9 £0-60€9 ovl 18 €T 6l 0L 9'8¥ 160 668 026 616 yege 662 08l 56T 0°Gl 6'6C 0y 0z | Sk | zawo9L-€3rA
£0-60€9 £€0-60€9 8zl 18 9C [5x4 €L 1°Ge 060 7’68 6 16 yege €6l zel 56T A €6l 9€e Gl 1L | TYINO9L-€TIFA
30N buuesg| 3q Buuesg [ O | (V)Gp |NL/Xew] | NL/¥SL [ N/3SI WeN  |(%001) @S0 | (%09) #3 | (%S2) 43 |(%001) #3|(ZHO9/A08Y) wdi| (ZHOY/A08Y) M |(ZHOY/A08BY) M| ulwzd  [(ZHOSG/A0B9) M|(ZHOS/A00Y) NI(ZHOS/AOEZ) M| dH | M IdAL
s370d ¢

V1vd TVvIINHOIL JOLON JI¥13373 NOUI LSVD ISVHd F3HHL ONIRMVIE N'®D LS LIyl D431 SSdl 4 TO'SNI ADN3ID1443 WNINTAd €31 ZHOS A00Y SSE~091-€3I-A




€0-22€9 | €0-zzenN | oSlz | 26 0z 8l g9 [ 2214 180 06 §'S6 8'G6 068 9re ore (a2 10z 9re 209 0/z | 00z 8165€-€3IFA
€0-22€9 | €0-zZeNN | 061 26 0z 8l g9 6502 180 06 §'S6 8'G6 068 112 z61 (a2 191 112 z8Y 0zZ | 091 | 8ANSSE-ETIFA
€0-22€9 | €0-zZenN | 0681 26 0z 8l g9 6691 98'0 1'€6 §'S6 556 068 z€e 851 (a2 veL zee £0Y 08l | Z€L | 8VINSSE-ETIFA
€0-61€9 | €0-6LENN | 0SEL 88 0z 8l g9 9Lyl G680 ¥'€6 256 z's6 068 961 zeL (a2 vl 961 Lve 0SL | OLL | 8EISLE-ETIrA
€0-61€9 | €0-6LENN | OLEL 88 0z 8l g9 85LL €80 1'€6 616 676 068 eLe] 801 [a 2 9'G6 g9l 182 Gzl | 06 | 8VISLE-ETIrA
€0-61€9 | €0-6LENN | 0SZ) 88 0z 8l g9 596 280 0'€6 916 96 068 orl 006 [a 2 608 ovl (374 00L | SL 8INGLE-€TIFA
€0-61€9 | €0-6LENN | 0LOL 88 0z 8l g9 80L 280 ¥'26 8'€6 6€6 068 €0l 099 [a 2 8'65 €0l 6.1 6L | ss 8SSlE-€aA
€0-/1€9 €0-21€9 099 z8 L'z 6l L9 685 080 L6 G'e6 5'€6 288 898 0t GeL €05 898 [X<]8 09 | sv 8IN08Z-€3I-A
€0-/1€9 €0-21€9 2.8 z8 L'z 6l L9 [X:14 080 16 1'€6 0°€6 288 8L (447 GeL 9Ly 8L gzl 0s | L¢ 8S08Z-€31-A
€0-71€9 €0-71€9 0S¥ 08 L'z 6l L9 06€ 6.0 806 v'26 526 z88 €65 09¢ GeL ¥ €65 €0l oy | oe 8IN0SZ-€3IFA
€0-€1€9 €0-€1€9 9re 6L L'z 61 L9 982 60 9'68 G'L6 gL 288 6y ¥'92 GeL g'se 6'ey ¥'9. og | zz 8INGZZ-€3IFA
€0-€1€9 €0-€1€9 962 6L L'z 61 L9 ore 9.0 €68 L6 1’16 z88 98¢ zee GeL ¥'ze 98¢ 129 Gz | §8L 8S62Z-€3I-A
€0-21€9 €0-21€9 0sz 6L e 0z 69 g6l 9.0 588 €06 706 z88 gLe 08l GeL €8l gle 8 0z | S 81002-€3IFA
€0-11€9 €0-11€9 20z 9L e 0z 69 evl 9.0 v'.8 168 1'68 z88 144 zel GeL g€l v'eT 80 Sl 1 81081L-€3IFA
€0-60€9 £€0-60€9 091 zL a4 0z 69 8'86 SL0 668 118 9.8 0.8 g9l 06 szl 96 g9l 182 oL | s2 871094-€3I-A
€0-60€9 €0-60€9 L€1 zL e 0z 69 ¥'zL v.°0 S8 €98 €98 0.8 ¥zl 99 seL L vzl R%4 G, | §°6 | 8ANO09L-€I-A
€0-60€9 £0-60€9 ogl zL e 0z 69 128 v.°0 ze8 918 L8 0.8 126 8y szl €g z6 091 g's v | 8VINO9L-E€3I-A
S370d 8

€0-22€9 | €0-zzenN | oolz | ¥6 0Z €l [ zLe 880 8'€6 8'G6 8'G6 88LL 144 0°00€ 066 (374 8zy b ove | 0sz 9165€-€3IFA
€0-22€9 | €0-zZenN | L¥6L | ¥6 0Z €l [ 6261 880 8'€6 8'G6 8'G6 88LL zve 0°0ve 066 661 Tve 965 0/Z | 002 | 9GNSSE-€3I-A
€0-22€9 | €0-zzenN | 1SLL | ¥6 0Z ¥l 1L £bSL 98'0 9'€6 9'66 9'G6 88LL 182 0261 066 €9l 182 681 00Z | 09L | 9VINSSE-€3I-A
€061€9 | €0-6LENN | Lzel | 68 L'z ¥l 89 €21 98'0 7'€6 7'56 ¥'G6 88l 44 7’851 066 gel z€e [04 08l | 2z€L | 9gISLE-€AIrA
€061€9 | €0-6LENN | vSZL | 68 0C gl 89 9901 98'0 166 256 1'66 z8LL 6l 0'zeL 686 eLl 761 8¢ee 0SL | OLL | 9VISLE-€IIA
€061€9 | €0-6LENN | L6LL | 68 0C 9l 89 €/8 G8'0 626 066 616 z8LL 191 0'80L 686 ¥'€6 191 082 gzl | 06 NG LE-ETIFA
€061€9 | €0-6LENN 186 68 0C 9l g9 12L G680 926 9'v6 916 z8lL gel 006 686 08L gel veT 0oL | sz 9SG1LE-€3IA
€0-/1€9 €0-/1€9 00 g8 44 8l 09 €€5 G680 126 16 L'v6 z8lL €66 099 686 [} €66 €Ll 6L | ss 9IN08Z-€3IFA
€0-/1€9 €0-/1€9 119 g8 44 8l g9 9ty G680 16 8'¢6 1°€6 z8lL 918 0¥ 686 €Ly 918 [a4 09 | st 9508Z-€3I-A
€0-1€9 €0-71€9 9zv z8 44 6l 89 65€ 780 €16 £'€6 £€6 z8lL 189 iy 686 G'6 189 6LL 0s | L¢ 9IN0SZ-€3IFA
€0-€1€9 €0-€1€9 zee 08 44 6l g9 z62 780 606 166 626 YR} [eele] 09¢ 086 zee fexele) 596 oy | oe 9INGZZ-€3IFA
€0-21€9 €0-21€9 29z 08 €T Ll 09 i4%4 €80 206 €26 226 YR} Sy 92 086 L' gy zeL 0¢ | 2z | 99100z-€3rA
€0-21€9 £€0-21€9 14 08 vz 9l g9 08l 18°0 168 616 16 YR} 09¢ zze 086 802 0'9¢ 529 Gz | 8L | 9v100z-€3rA
€0-11€9 €0-11€9 %4 1L vz gl 09 Lyl 180 6L €16 16 0LLL €62 08l 6.6 0Ll €62 01S 0z | S 9108L-€3IFA
£€0-60€9 £0-60€9 0LL €L vz gl 09 801 6.0 €88 506 €06 L1 £2e zel 0.6 62l €2z 1°8¢ Gl 1 97091L-€3IFA
€0-60€9 £€0-60€9 il €L gz Ll 6'G 8¢l 1.0 1°28 €68 1'68 L1 8'Gl 06 0.6 1’6 8'Gl v oL | s2 9INO9L-€TIFA
30N buuesg| 3q Buueeg [ oM | (V)Gp |NL/Xew] | NL/SL [ N/3SI weN  |(%001) @S0 | (%09) #3 | (%S2) 43 |(%001) #3|(ZHO9/A08Y) wdi| (ZHOY/A08Y) M |(ZHO/A08BY) M| ulwzd  [(ZHOS/A0B9) M|(ZHOS/A00Y) NI(ZHOS/AOEZ) M| dH | M IdAL
S370d 9

V1vdad TVvIINHO3L JYOLON JI413373 NOYI LSVD ISVHd F3HHL ONIMVIE N8I LS LYl D431 SSdl 4 TO'SNI ADN3IDI443 IWNINTAd €31 ZHOS A00Y SSE~091-€3I-A




FRAME SIZE 160~355 — B3 MOUNTING DIMENSIONS (IE2 / IE3 EFFICIENCY) — CAST IRON

LD

LE

Jﬂﬁii;ﬂt

E C B
L
Frame size 160~355 (B3)
Frame B3 Mounting Dimensions (mm)
Size Poles A B Cc D E F G H K M GD
160M 2468 | 254 | 210 | 108 | @42 | 110 | 12 | 37 | 160 | 4-914.5 / 8
160L 2468 | 254 | 254 | 108 | @42 | 110 | 12 | 37 | 160 | 4-914.5 / 8
180M 248 279 | 241 | 121 | @48 | 110 | 14 | 425 | 180 | 4-914.5 / 9
180L 468 279 | 279 | 121 | @48 | 110 | 14 | 425 | 180 | 4-914.5 / 9
200L 2468 | 318 | 305 | 133 | @55 | 110 | 16 | 49 | 200 | 4-916.5 / 10
2258 48 356 | 286 | 149 | @60 | 140 | 18 | 53 | 225 | 4-918.5 / 1
2 356 | 311 | 149 | @55 | 110 | 16 | 49 | 225 | 4-918.5 / 10
22oM 468 356 | 311 | 149 | @60 | 140 | 18 | 53 | 225 | 4-918.5 / 1
2 406 | 349 | 168 | @60 | 140 | 18 | 53 | 250 | 4-924 / 1
2o0m 468 406 | 349 | 168 | @65 | 140 | 18 | 58 | 250 | 4-924 / 1
2 457 | 368 | 190 | @65 | 140 | 18 | 58 | 280 | 4-924 / 1
2808 468 457 | 368 | 190 | @75 | 140 | 20 | 67.5 | 280 | 4-924 / 12
2 457 | 419 | 190 | @65 | 140 | 18 | 58 | 280 | 4-924 / 1
280m 468 457 | 419 | 190 | @75 | 140 | 20 | 67.5 | 280 | 4-924 / 12
2 508 | 406 | 216 | @65 | 140 | 18 | 58 | 315 | 4-928 / 1
318 468 508 | 406 | 216 | @80 | 170 | 22 | 71 315 | 4-928 / 14
2 508 | 457 | 216 | ®65 | 140 | 18 | 58 | 315 | 4-928 / 1
31M 468 508 | 457 | 216 | @80 | 170 | 22 | 71 315 | 4-928 / 14
2 508 | 508 | 216 | ®65 | 140 | 18 | 58 | 315 | 4-928 / 1
s1st 468 508 | 508 | 216 | @80 | 170 | 22 | 71 315 | 4-928 / 14
2 610 | 560 | 254 | @75 | 140 | 20 | 67.5 | 355 | 6-928 / 12
355M 468 610 | 560 | 254 | @95 | 170 | 25 | 86 | 355 | 6-928 / 14
2 610 | 630 | 254 | @75 | 140 | 20 | 67.5 | 355 | 6-928 / 12
st 468 610 | 630 | 254 | @95 | 170 | 25 | 86 | 355 | 6-928 / 14




FRAME SIZE 160~355 — B3 MOUNTING DIMENSIONS (IE2 / IE3 EFFICIENCY) — CAST IRON

LD LE CG

Frame size 160~355 (B3)

Frame Cable Gland B3 Outline Dimensions (mm)
Size Poles CG CF AB AE AC LD LE HA AD DB L
160M | 2468 | 2-M40x1.5 | 1-M16x1.5 314 @200 @314 224 64 20 251 M16x36 608
160L | 2468 | 2-M40x1.5 | 1-M16x1.5 314 @200 @314 224 64 20 251 M16x36 652
180M 248 | 2-M40x1.5 | 1-M16x1.5 349 @240 @355 239 64 22 267 M16x36 688
180L 468 | 2-M40x1.5 | 1-M16x1.5 349 @240 @355 239 64 22 267 M16x36 726
200L | 2468 | 2-M50x1.5 | 1-M16x1.5 388 @245 @397 256 80 25 299 M20x42 779
225S 48 2-M50x1.5 | 1-M16x1.5 431 @260 D446 289 80 28 322 M20x42 824
2 2-M50x1.5 | 1-M16x1.5 431 @260 D446 259 80 28 322 M20x42 819
225 468 | 2-M50x1.5 | 1-M16x1.5 431 @260 D446 289 80 28 322 M20x42 849
2 2-M63x1.5 | 1-M16x1.5 484 P275 @485 305 84 30 358 M20x42 910
250M 468 | 2-M63x1.5 | 1-M16x1.5 484 P275 @485 305 84 30 358 M20x42 910
2 2-M63x1.5 | 1-M16x1.5 542 ®306 @547 314 84 35 387 M20x42 982
2808 468 | 2-M63x1.5 | 1-M16x1.5 542 ®306 @547 314 84 35 387 M20x42 982
2 2-M63x1.5 | 1-M16x1.5 542 @306 @547 314 84 35 387 M20x42 1033
260 468 | 2-M63x1.5 | 1-M16x1.5 542 @306 @547 314 84 35 387 M20x42 1033
2 2-M63x1.5 | 1-M16x1.5 628 @400 @620 355 84 45 527 M20x42 1194
3158 468 | 2-M63x1.5 | 1-M16x1.5 628 @400 @620 385 84 45 527 M20x42 1224
2 2-M63x1.5 | 1-M16x1.5 628 @400 ®620 355 84 45 527 M20x42 1304
S1sm 468 | 2-M63x1.5 | 1-M16x1.5 628 @400 ®620 385 84 45 527 M20x42 1334
2 2-M63x1.5 | 1-M16x1.5 628 @400 ®620 355 84 45 527 M20x42 1304
st 468 | 2-M63x1.5 | 1-M16x1.5 628 @400 ®620 385 84 45 527 M20x42 1334
2 2-M63x1.5 | 1-M16x1.5 726 / ®698 372 84 52 642 M20x50 1486
35M 468 | 2-M63x1.5 | 1-M16x1.5 726 / ®698 402 84 52 642 M24x50 1516
2 2-M63x1.5 | 1-M16x1.5 726 / @698 372 84 52 642 M20x50 1486
3ot 468 | 2-M63x1.5 | 1-M16x1.5 726 / @698 402 84 52 642 M24x50 1516




FRAME SIZE 160~355 — B5 MOUNTING DIMENSIONS (IE2 / IE3 EFFICIENCY) — CAST IRON

"

g

Frame size 160~355 (B5)

Size 160~200 (B5 Flange)

Size 225~355 (B5 Flange)

Frame B5 Mounting Dimensions (mm)
Size Poles [ D E F G H K M N P S T GD
160M 2468 / @42 | 110 12 37 / / @300 | @250 | @350 | 4-919 5 8
160L 2468 / @42 | 110 12 37 / / @300 | @250 | @350 | 4-919 5 8
180M 248 / @48 | 110 14 | 425 / / @300 | @250 | @350 | 4-919 5 9
180L 468 / @48 | 110 14 | 425 / / @300 | @250 | @350 | 4-919 5 9
200L 2468 / @55 | 110 16 49 / / @350 | @300 | P400 | 4-919 5 10
2258 48 / @60 | 140 18 53 / / @400 | @350 | P450 | 4-919 5 11
2 / @55 | 110 16 49 / / @400 | @350 | P450 | 4-919 5 10
22oM 468 / @60 | 140 18 53 / / @400 | @350 | P450 | 4-919 5 11
2 / @60 | 140 18 53 / / @500 | @450 | P550 | 4-919 5 11
2o0m 468 / @®65 | 140 18 58 / / @500 | @450 | P550 | 4-919 5 11
2 / @65 | 140 18 58 / / @500 | @450 | @550 | 4-919 5 1
2808 468 / @75 | 140 | 20 | 67.5 / / @500 | @450 | @550 | 4-919 5 12
2 / @®65 | 140 18 58 / / @500 | @450 | P550 | 4-919 5 11
280m 468 / @75 | 140 | 20 | 67.5 / / @500 | @450 | P550 | 4-919 5 12
2 / @®65 | 140 18 58 / / @600 | P550 | P660 | 4-924 6 11
318 468 / @80 | 170 | 22 71 / / @600 | P550 | P660 | 4-924 6 14
2 / @65 | 140 18 58 / / @600 | @550 | @660 | 4-924 6 1
31M 468 / @80 | 170 | 22 71 / / @600 | @550 | @660 | 4-924 6 14
2 / @65 | 140 18 58 / / @600 | @550 | @660 | 4-924 6 1
s1st 468 / @80 | 170 | 22 71 / / @600 | @550 | @660 | 4-924 6 14
2 / @75 | 140 | 20 | 67.5 / / @740 | @680 | P800 | 4-924 6 12
355M 468 / @95 | 170 | 25 86 / / @740 | @680 | P800 | 4-924 6 14
2 / @75 | 140 | 20 | 67.5 / / @740 | P680 | P8O0 | 4-924 6 12
st 468 / @95 | 170 | 25 86 / / @740 | P680 | P8O0 | 4-924 6 14




FRAME SIZE 160~355 — B5 MOUNTING DIMENSIONS (IE2 / IE3 EFFICIENCY) — CAST IRON

"

g

Size 160~200 (B5 Flange) Size 225~355 (B5 Flange)

Frame size 160~355 (B5)

Frame Cable Gland B5 Outline Dimensions (mm)
Size Poles CG CF AB AE AC LD LE HF AD DB L
160M | 2468 | 2-M40x1.5 | 1-M16x1.5 / ®200 @314 224 64 430 251 M16x36 608
160L | 2468 | 2-M40x1.5 | 1-M16x1.5 / ®200 @314 224 64 430 251 M16x36 652
180M 248 | 2-M40x1.5 | 1-M16x1.5 / @240 @355 239 64 500 267 M16x36 688
180L 468 | 2-M40x1.5 | 1-M16x1.5 / @240 @355 239 64 500 267 M16x36 726
200L | 2468 | 2-M50x1.5 | 1-M16x1.5 / @245 @»397 256 80 550 299 M20x42 779
225S 48 2-M50x1.5 | 1-M16x1.5 / @260 446 289 80 610 322 M20x42 824
2 2-M50x1.5 | 1-M16x1.5 / @260 446 259 80 610 322 M20x42 819
225 468 | 2-M50x1.5 | 1-M16x1.5 / @260 446 289 80 610 322 M20x42 849
2 2-M63x1.5 | 1-M16x1.5 / 275 @485 305 84 650 358 M20x42 910
250M 468 | 2-M63x1.5 | 1-M16x1.5 / 275 @485 305 84 650 358 M20x42 910
2 2-M63x1.5 | 1-M16x1.5 / ®306 @547 314 84 720 387 M20x42 982
2808 468 | 2-M63x1.5 | 1-M16x1.5 / ®306 @547 314 84 720 387 M20x42 982
2 2-M63x1.5 | 1-M16x1.5 / @306 ®547 314 84 720 387 M20x42 1033
260 468 | 2-M63x1.5 | 1-M16x1.5 / @306 @»547 314 84 720 387 M20x42 1033
2 2-M63x1.5 | 1-M16x1.5 / @400 620 355 84 860 527 M20x42 1194
3158 468 | 2-M63x1.5 | 1-M16x1.5 / @400 @620 385 84 860 527 M20x42 1224
2 2-M63x1.5 | 1-M16x1.5 / @400 ®620 355 84 860 527 M20x42 1304
S1sm 468 | 2-M63x1.5 | 1-M16x1.5 / @400 ®620 385 84 860 527 M20x42 1334
2 2-M63x1.5 | 1-M16x1.5 / @400 ®620 355 84 860 527 M20x42 1304
st 468 | 2-M63x1.5 | 1-M16x1.5 / @400 ®620 385 84 860 527 M20x42 1334
2 2-M63x1.5 | 1-M16x1.5 / / ®698 372 84 980 642 M20x50 1486
35M 468 | 2-M63x1.5 | 1-M16x1.5 / / ®698 402 84 980 642 M24x50 1516
2 2-M63x1.5 | 1-M16x1.5 / / 698 372 84 980 642 M20x50 1486
3ot 468 | 2-M63x1.5 | 1-M16x1.5 / / 698 402 84 980 642 M24x50 1516




FRAME SIZE 160~355 — B35 MOUNTING DIMENSIONS (IE2 / IE3 EFFICIENCY) — CAST IRON

[@ ©
ﬂ ]

AE
AC

Size 160~200 (B35 Flange)

Frame size 160~355 (B35)

Size 225~355 (B35 Flange)

Frame B35 Mounting Dimensions (mm)
Size Poles A B Cc D E F G H K M N P S T GD
160M 2468 | 254 | 210 | 108 | @42 | 110 | 12 | 37 | 160 | 4-914.5 | @300 | P250 | P350 | 4-919 5 8
160L 2468 | 254 | 254 | 108 | @42 | 110 | 12 | 37 | 160 | 4-914.5 | @300 | P250 | P350 | 4-919 5 8
180M 248 279 | 241 | 121 | @48 | 110 | 14 | 425 | 180 | 4-914.5 | @300 | P250 | @350 | 4-919 5 9
180L 468 279 | 279 | 121 | @48 | 110 | 14 | 425 | 180 | 4-914.5 | @300 | P250 | @350 | 4-919 5 9
200L 2468 | 318 | 305 | 133 | @55 | 110 | 16 | 49 | 200 | 4-®16.5 | @350 | @300 | P400 | 4-19 5 10
2258 48 356 | 286 | 149 | @60 | 140 | 18 | 53 | 225 | 4-918.5 | @400 | @350 | D450 | 4-919 5 11
2 356 | 311 | 149 | @55 | 110 | 16 | 49 | 225 | 4-918.5 | @400 | @350 | @450 | 4-919 5 10
22oM 468 356 | 311 | 149 | @60 | 140 | 18 | 53 | 225 | 4-918.5 | @400 | @350 | @450 | 4-919 5 11
2 406 | 349 | 168 | ®60 | 140 | 18 | 53 | 250 | 4-924 @500 | @450 | P550 | 4-919 5 11
2o0m 468 406 | 349 | 168 | @65 | 140 | 18 | 58 | 250 | 4-924 @500 | @450 | P550 | 4-919 5 11
2 457 | 368 | 190 | @65 | 140 | 18 | 58 | 280 | 4-924 @500 | @450 | @550 | 4-919 5 1
2808 468 457 | 368 | 190 | @75 | 140 | 20 | 67.5 | 280 | 4-924 @500 | @450 | @550 | 4-919 5 12
2 457 | 419 | 190 | @65 | 140 | 18 | 58 | 280 | 4-924 @500 | @450 | P550 | 4-919 5 11
280m 468 457 | 419 | 190 | @75 | 140 | 20 | 67.5 | 280 | 4-924 @500 | @450 | P550 | 4-919 5 12
2 508 | 406 | 216 | @65 | 140 | 18 | 58 | 315 | 4-928 @600 | P550 | P660 | 4-924 6 11
318 468 508 | 406 | 216 | @80 | 170 | 22 | 71 315 | 4-928 @600 | P550 | P660 | 4-924 6 14
2 508 | 457 | 216 | ®65 | 140 | 18 | 58 | 315 | 4-928 @600 | @550 | @660 | 4-924 6 1
31M 468 508 | 457 | 216 | @80 | 170 | 22 | 71 315 | 4-928 @600 | @550 | @660 | 4-924 6 14
2 508 | 508 | 216 | ®65 | 140 | 18 | 58 | 315 | 4-928 @600 | @550 | @660 | 4-924 6 1
s1st 468 508 | 508 | 216 | @80 | 170 | 22 | 71 315 | 4-928 @600 | @550 | @660 | 4-924 6 14
2 610 | 560 | 254 | @75 | 140 | 20 | 67.5 | 355 | 6-928 @740 | @680 | P800 | 4-924 6 12
355M 468 610 | 560 | 254 | @95 | 170 | 25 | 86 | 355 | 6-928 @740 | @680 | P800 | 4-924 6 14
2 610 | 630 | 254 | @75 | 140 | 20 | 67.5 | 355 | 6-928 @740 | P680 | P8O0 | 4-924 6 12
st 468 610 | 630 | 254 | @95 | 170 | 25 | 86 | 355 | 6-928 @740 | P680 | P8O0 | 4-924 6 14




FRAME SIZE 160~355 — B35 MOUNTING DIMENSIONS (IE2 / IE3 EFFICIENCY) — CAST IRON

&

A\
g

AE
AC

Size 160~200 (B35 Flange)

Frame size 160~355 (B35)

Size 225~355 (B35 Flange)

Frame Cable Gland B35 Outline Dimensions (mm)
Size Poles CG CF AB AE AC LD LE HA AD DB L
160M | 2468 | 2-M40x1.5 | 1-M16x1.5 314 @200 @314 224 64 20 251 M16x36 608
160L | 2468 | 2-M40x1.5 | 1-M16x1.5 314 @200 @314 224 64 20 251 M16x36 652
180M 248 | 2-M40x1.5 | 1-M16x1.5 349 @240 @355 239 64 22 267 M16x36 688
180L 468 | 2-M40x1.5 | 1-M16x1.5 349 @240 @355 239 64 22 267 M16x36 726
200L | 2468 | 2-M50x1.5 | 1-M16x1.5 388 @245 @397 256 80 25 299 M20x42 779
225S 48 2-M50x1.5 | 1-M16x1.5 431 @260 D446 289 80 28 322 M20x42 824
2 2-M50x1.5 | 1-M16x1.5 431 @260 D446 259 80 28 322 M20x42 819
225 468 | 2-M50x1.5 | 1-M16x1.5 431 @260 D446 289 80 28 322 M20x42 849
2 2-M63x1.5 | 1-M16x1.5 484 P275 @485 305 84 30 358 M20x42 910
250M 468 | 2-M63x1.5 | 1-M16x1.5 484 P275 @485 305 84 30 358 M20x42 910
2 2-M63x1.5 | 1-M16x1.5 542 ®306 @547 314 84 35 387 M20x42 982
2808 468 | 2-M63x1.5 | 1-M16x1.5 542 ®306 @547 314 84 35 387 M20x42 982
2 2-M63x1.5 | 1-M16x1.5 542 @306 @547 314 84 35 387 M20x42 1033
260 468 | 2-M63x1.5 | 1-M16x1.5 542 @306 @547 314 84 35 387 M20x42 1033
2 2-M63x1.5 | 1-M16x1.5 628 @400 @620 355 84 45 527 M20x42 1194
3158 468 | 2-M63x1.5 | 1-M16x1.5 628 @400 @620 385 84 45 527 M20x42 1224
2 2-M63x1.5 | 1-M16x1.5 628 @400 ®620 355 84 45 527 M20x42 1304
S1sm 468 | 2-M63x1.5 | 1-M16x1.5 628 @400 ®620 385 84 45 527 M20x42 1334
2 2-M63x1.5 | 1-M16x1.5 628 @400 ®620 355 84 45 527 M20x42 1304
st 468 | 2-M63x1.5 | 1-M16x1.5 628 @400 ®620 385 84 45 527 M20x42 1334
2 2-M63x1.5 | 1-M16x1.5 726 / ®698 372 84 52 642 M20x50 1486
35M 468 | 2-M63x1.5 | 1-M16x1.5 726 / ®698 402 84 52 642 M24x50 1516
2 2-M63x1.5 | 1-M16x1.5 726 / @698 372 84 52 642 M20x50 1486
3ot 468 | 2-M63x1.5 | 1-M16x1.5 726 / @698 402 84 52 642 M24x50 1516




MO UD4 ¢ bn7 ssoug 77| JeAo) bulpag Jsuul (||

bnig o|ddiN aspeug 7¢ pupj9 2190) |7 o(ddiN espa1g "0l
dwply unq{ "|¢| espg xog [pullR| (07 obunly g

up4 "0¢ 194509 "6l PlRIYspuUq Juoi4 g

plelUspUg Ibey '6¢ pI7 xog [pulwie] 'g| butpeg  /
M2Jog bulyling Q7 bn7 ssoug /| JOUSDM 2ADM 9
JOUSD| PRIDIIRS /7 pJoog [pUIWIR| "g|| Jano) buupag J4oing G
YD Dbuyln3 "9z SWbJ4 UOJ| 1807 "Gl 1OUSOM 3P4 ¥
910|daWop Gy JOID1S Y| Jaysop buuds ¢
HogaA3 47 1030y "¢} Hog ¢

19USDM SSbUg "¢ ¢ fay 71 0SS 110 )

(S65€~091-€3I-A / SS€~091-23I-A) YOLOW NO¥I LSVD A3A01dX3



YANGZHOU XIANGXIN ELECTROMECHANICAL IMP. & EXP. CO., LTD.
Room 339, Floor 3, Zone A, Shuang Qiao Business Plaza,

No.101 Yangzijiang North Road, Yangzhou, Jiangsu, China (P.C. 225002)

Tel. : 0086 514 8298 8288

Fax : 0086 514 8769 3586

Cell: 0086 153 1285 8558

Website: http://www.xxelectro.com

E-mail: xxe@vip.163.com (Business)



